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7HABREEN AEARAIREEH DAEEREEH f 5 (F+1+7)
C2 z H 58 z H 8 z H 8 z H 8 z H
FIRERX 1,405 1,555 2,960 393 415 808 137 166 303 6 10 16 536 591 1,127
FERER 1,133 1,312 2,445 329 361 690 112 143 255 7 6 13 448 510 958
IIERX 1,704 1,928 3,632 563 558 1,121 169 192 361 15 10 25 747 760 1,507
FARERX 969 1,064 2,033 294 290 584 115 142 257 3 1 4 412 433 845
EHIRERX 70 46 116 26 15 41 14 16 30 0 0 0 40 31 71
FORERX 627 723 1,350 164 156 320 104 149 253 4 3 7 272 308 580
THRERX 1,370 1,496 2,866 376 389 765 210 287 497 5 3 8 591 679 1,270
FEOIRER 1,279 1,445 2,724 377 398 775 175 201 376 9 16 25 561 615 1,176
FORERX 1,258 1,447 2,705 371 369 740 185 243 428 5 4 9 561 616 1,177
FIRER 1,791 1,870 3,661 463 445 908 235 294 529 10 4 14 708 743 1,451
&t 11,606 12,886 24,492 3,356 3,396 6,752 1,456 1,833 3,289 64 57 121 4,876 5,286 10,162
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ENMEEEHR(a) LAKREERB) HEARRER(Y) THEEREERS) F & (a+B+r+4)
3 z Hi 5 = H 58 8 H 58 z H 8 z ] 8 z
IRERX 10 9 19 0 0 0 0 0 0 0 0 0 0 0 0 0 0
g EEEH h & E X
(e’ —1) f/ e’ *100 =
3 z ] 5 z ]
FIERERX 869 964 1,833 38.15 38.01 3807 | HFIRER KHIZa=—Tst5—
EURERX 685 802 1,487 39.54 38.87 39.18 | F2RER WDLIE—BETRA—IL
FEIIRERX 957 1,168 2,125 43.84 39.42 4149 | HEIHRER BEALEKXREE
FARERX 557 631 1,188 42.52 40.70 4156 | FAREX FEHLKREE
E5IRERX 30 15 45 57.14 67.39 61.21 | ESRERXR F_FHOEZEE
FEOIRERX 355 415 770 43.38 42.60 4296 | FOIRER =M/NERAETE
THRERX 779 817 1,596 43.14 45.39 4431 | EMHRERX HERNERAFE
FORER 718 830 1,548 43.86 42.56 4317 | FIRERX BAwEIZa=—T 45—
FIRERXR 697 831 1,528 4459 4257 4351 | BBIRER REBN—Z=-UTtEVE—
FE10RER 1,083 1,127 2,210 39.53 39.73 39.63 | FIORER R/NHANERAFFE
&t 6,730 7,600 14,330 42.01 41,02 41.49
Ai[El (H28.7.10) IR E =R 53.93 52.73 53.29
G EEEN H#& ZE X X BFEUOFEEHSE Y BEEHE Wik E X
(E' —F) F/E’ *100 (e’ +E’) (f+F) Y./X %100
3 z H 5 z H 58 z H 58 z H 5 z
FORERX 10 9 19 0.00 0.00 0.00 11,616 12,895 24511 4,876 5,286 10,162 41.98 40.99
RIEIER R AIEIER 53.90 52.69




